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| ENGLISH, Paper - I1
i
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SECTION - A
I.  Annotate ANY TWO of the following in 10-15 lines each. 2x4=8

I1.
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(1)

(2)

(3)

(4)

You must open the windows of your mind, but you must not be swept
off your feet by the breeze.

They go out in silly little suits and run marathon heats before
breakfast.

The ultimate in co-operation!

Nature will make us pay for it.

Annotate ANY TWO of the following in 10-15 lines each. 2x4=8

(1)

(2)

(3)

With this equipment, they all began,
so start from the top and say "I can".

I wish that I could give you something ......
but I have nothing left.

We are more alike, my friends,

than we are unlike.

We like whatever helps us

To line our purse with pence.

PT.O.
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Answer ANY TWO of the following questions in 10-15 lines each. 2x4=8

(1) It is often believed “Your attitude, not your aptitude, will determine
your altitude”. Is this true ? Discuss it in the light of Azim Premji’s
lessons ?

(2) What were Einstein's views regarding rote learning ? Why is mere rote
learning useless ?

(3) What are W R Inge's views on the effect of machines and technology on
man ?

(4) Sketch the character of Mrs. Pearson.

Answer ANY TWO of the following questions in 10-15 lines each. 2x4=8

(1) ‘All men are created equal’ is a well-known statement made by -
Thomas Jefferson. Does the poem ‘Equipment’ corroborate this ?

(2) ‘The Giving Tree’ is a celebration of unconditional love. Illustrate.

(3) We all belong to one race in the world, namely, the human race. How
does the poet Maya Angelou justify this statement in the poem
‘Human Family’ ?

(4) Explain how the poet compares and contrasts the bull with modern
man in the poem ‘Bull in The City’.

Answer ANY ONE of the following questions in about 25 lines. 1x8=8
(1) Bring out the contrast in the characterslbf Snowball and Napoleon.
(2) Give a character analysis of Squealer, th'ekpig.
3) Hdw is ‘Animal Farm’ a satire on Stalinism or generally of
totalitarianism ? '
SECTION - B

Read the following passage carefully and answer the questions
that follow. 5x1=5

The diversity of India is tremendous; it is obvious; it lies on the surface
and anybody can see it. It concerns itself with physical appearance as well
as with certain mental abilities and traits. There is little in common,
outward seeming, between the Pathan of the North-West and the Tamil in




VII.

201

[3]

the far South. Their racial stocks are not the same, though there may be
common strands running through them,; they differ in face and figure, food
and clothing and of course, language.... Yet, with all these differences, there
is no mistaking the impress of India on the Pathan, as this is obvious on the
Tamil.

Questions :
1. How is the diversity of India obvious ?

2. The Pathan and the Tamil have common outward features. Write
"True' or False'. :

3.  Are the racial stocks of the Pathan and the Tamil entirely different ?
4. What is common to both the Pathan and the Tamil ?
5. Mention the aspects in which the Pathan and the Tamil differ.

Read the following passage carefully and answer the questions
that follow : | 5x1=5

“Comrades”, he said, “I trust that every animal here appreciates the
sacrifice that Comrade Napoleon has made in taking this extra work upon
himself. Comrades, leadership is not a pleasure! On the contrary, it is a deep
and heavy responsibility. No one believes more firmly than Comrade
Napoleon that all animals are equal. He would be only too happy to let you
make your decisions for yourselves. But sometimes you might make the
wrong decisions, Comrades and then where should we be ?” On hearing this,
the animals remained silent.

Questions : ‘
113

1. Who is the speaker of the passage ?
2. What does the speaker of the passage trust ?
3.  Which is not a “pleasure” according to the speaker ?

4. 'Who believes more firmly than any other does that all the other
animals are equal ?

5.  Pick out the word from the passage, which means ‘friend’.

PT.O.
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VIIL.Study the advertisement and answer the questions that follow : 5x1=5

IDBI Suvidha Fixed Deposits with higher
returns bring happiness in your life.
Suvidha offers you two options -

(i) Cumulative (ii) Non-Cumulative. The
deposits can be for a period of 1 to 5 years.

So bid goodbye to your worries and say
hello to happiness with IDBI Suvidha Fixed
Deposits. )

Bonding through Safety & Security.

Happiness called Suvidha

Scheme Features :

* Interest can be paid Monthly
/ Quarterly/ Yearly or on a
Cumulative Basis.

* Tax benefit u/s 80L of IT
Act, 1961 upto Rs. 12,000/-

o
@ Industrial Development Bank of India
IDBI Tower, WTC Complex, Cuffe Parade, Mumbai- 400 005 Tal : (022) 22163252, 221 53628, 22161427 Website : www.idbi.com

Questions :
What are two options offered under the 'Suvidha Scheme' ?

1.,

2
3.
4.
)
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What are the different options for payment of interest ?

What is the full form of IDBI ?
What are tax benefits ?
'Quarterly’ means ....

(Choose the best answer)

(a) Once in three weeks.
(b) Once in three months.
(c) Once in three years.

-
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IX. Read the flow-chart carefully and answer the questions that follows.5x1=5

Flow-Chart showing Water cycle

Solar heat evaporates water in oceans, rivers, etc.
v
Water vapour forms clouds.
v
Winds spread clouds.
¥
Cool breezes precipitate vapour in clouds as rain.
v
Rain water flows into rivers.
$
Rivers carry water into oceans.
Questions :
1. What is the flow-chart about ?
2. How many steps are shown ?
3. How does water evaporate ?
4. What makes vapour precipitate as rain ?
5. How does clouds spread all around ?
SECTION - C
X. Write a letter to your father/mother on the mode of your preparation

for Intermediate Final Year Public Examinations. Ix5=5

Hints : Public Examinations - fast approaching - serious preparation -
guidance and supervision - lecturers - expectation - good results.

OR

Write a letter to your Principal seeking permission to open an ‘Enghsh
Language Club’ in your college.

Hints : Importance of English language - window to the world - good
communication skills in English - job opportunities - Lecturer in English -
monitor of the English Language Club.
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Write a short paragraph of about 8 lines describing how to send a
registered letter. 1x5=5
OR

Write a short paragraph of about 8 lines describing how to book a ticket at
the railway station.

Prepare a Curriculum Vitae based on the information given below. 1x5=5

Ms S Mangala Gowri is a Post Graduate in Commerce from S.V. University,
Tirupati. She completed the P.G. course in 2004. Born on 14-07-1982, she
had her entire education up to graduation level in'Govt. institutions in
Kadapa, securing more than 75% in all examinations. Her father Mr. Subba
Rayudu advised her to send her C.V. to the Regional Joint Director of
Intermediate Education, Zone IV, Kadapa in a response to the notification
given for the recruitment of contract junior lecturers in Commerce in
Government Jr. Colleges, Zone V.

XIII.Read the information given below. Then fill the form by writing your

answers against the numbers given in blanks. (It is not necessary to draw
the form.) 10xY2=5
You are Mr. Ramesh. Your employer Mr. Venu Gopal has asked you to
deposit Rs.625/- through a Cheque No0:6496 dated 01.03.2013 in his Post
Office Savings account in Secunderabad Post Office.

Fill in the form and deposit the money. The Account No. of Mr. Venu Gopal
is 6543.

@ POST OFFICE RSRAR
o SAVINGS BANK POST OFFICE SAVINGS BANK @ PO
Account NO. ....covviccenmsnsmmnmmmannesisssne @
D . Account No Date ©)
............................ AL cucencrnasraansssrsne - ' ®
........................ paid into the credit of paid into the credit of
............................. Rupees ......c..coecennn Rupees ® Rs.
........................................ Rs. _® by Cash/ Cheque
by Cash / Cheque No. .....cccoouiiierninnn No. @ Date ® By )
Date ........... B sovisssasassniios (Particulars of the cheque)
(Subject to realisation) Balance after transaction
SB Assistant ®
, Signature of Depositor or
SBAssistant . his Messenger
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XIV. Construct a dialogue to suit the following situation. 1x5=5
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Madhu asking Rama, why she had not attended college the previous day.

OR

Priyanka advising her younger brother Rahul on ways to succeed in career.

Read the following passage and make notes : 1x5=5

Man cannot manufacture blood as efficiently as women can. Men need
more oxygen because they do not breathe as often as women do. But men
breathe more deeply and this exposes them into the risk of drawing in more
polluted air. Men’s bones are larger than women’s. Men have broader
shoulders and a narrow pelvis. A woman has a wider pelvis that results in
a bit of a sway as she walks. Man has a thicker skin than that of a woman.
Women have a thin layer of fat just under the skin. This helps women keep
warm in winter and cool in summer. Men's fat is distributed differently and
they don't have a layer just under their skin.

. Match the words with their meaninés / definitions. 5x1=5
Column ‘A’ Column ‘B’
(1) phenomenon (a) a conceited, self centred person.
(2) albumen () the belief in the existence of god.
(3) mnarcissist (c) white of an egg.
(4) theism (d) an occurance, circumstance or fact that
can be perceived by the senses.
(5) oculist (e) one who attends teeth.
(f) one who attends to the diseases of
the eye.
(g) having no belief in the existence of god.

PT.O.



XVII. Mark the stress for ANY FIVE of the following words.
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(1) unable

(2) misbehave
(3) 1mage

(4) honesty

(6) practice

(6) appreciate
(7) competition
(8) mnature

(9) consideration
(10) enough

(8]

x1=5
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